2019FE BRI SURLZFFRFaAT7INI7—ARFIEMERFER(1BE)

BHfER 4824H(K).25H (K)
BifEa—R |\MEgh R)—95D (EILE) ~ 6,174Yards-Par72
1BEHIEE |1224

JIE 32 K4 FEHIZI—X ouT IN GROSS
1 NS BRI WFEEEE 38 34 72
2 2l IF FHRLE 38 39 77
3T EH B INEZ 38 40 78
3T KE FA IERRFAVMN 4977 39 39 78
3T Big fi— IEBRFAVN-957 37 41 78
3T EH #0%E Y—MNIERR 3 35 43 78
T FHE Ha INES 39 40 79
T JIIA 7= 2o EILE 40 39 79
1T INth 12 WFETHEE 40 39 79
T BIIl #0k FoY N 39 40 79
T IR IEEs IEERFAIVN =937 39 40 79
T B i Y—MNIERR 3 37 42 79
13T f2H Aa INEZ 39 41 80
13T EEBER E N 41 39 80
13T B3 IE1T INBNT)Yh 42 38 80
13T EE B = N 41 39 80
17T FEXR B INKAN Ty 41 40 81
17T TiE i WFEEEE 42 39 81
17T ;BHE I IERFAN =977 41 40 81
20T =2RES Py IV 42 40 82
20T THEBE— NS 40 42 82
20T REr =AM HEMHLE 41 41 82
20T ZEE WFETHEE 42 40 82
20T ER BX F W 42 40 82
20T X BIE NG 41 41 82
20T EO AR Py U NES 41 41 82
27T fnfE K ARER IERFAIN 957 40 43 83
27T /AR Mz WFEEEE 43 40 83
27T %=1 1B IERRFAN =977 43 40 83
27T hAt = INES 43 40 83
27T Y ME INES 40 43 83
27T HEEE C =N 40 43 83
27T EH TR IEERFHIVN =977 41 42 83
34T bt B TV 40 44 84
34T 2R IS FY N 43 41 84
34T HO = IEERFAVN =977 43 41 84
34T maf & 2 EILE 43 A1 84
34T AHF— Ty 42 42 84
34T EHE IEERFAVMN 4957 42 42 84
34T gk Bid WFE & 43 41 84
34T A B g 11GC 44 40 84
427 BN ESE = AN 43 42 85
42T B ZER &®11GC 44 41 85
42T AR ST YU NES 41 44 85
42T Z % IEBRFhUMN)-457 44 41 85
42T JIIEA F# NS 40 45 85
42T XA ED N =1 AIN ;. 43 42 85
42T Wil #uk 7Y 41 44 85
427 & H #5F WFEEEE 39 46 85
42T AL EXR ERRFAN =977 43 42 85
42T HW J/\ER &1LGC 42 43 85
427 NS B WFEEEE 42 43 85
53T B R AR C =N 43 43 86
53T HEE T 43 43 86

1/3R=T




53T B B INANT)9h 46 40 86
53T W fiEE N 44 42 86
53T i B EINF 45 41 86
53T Hft 18 WFETEHE 41 45 86
53T Hr $HER E W 41 45 86
53T MR Py U NES 45 41 86
53T FE EX EEAN 44 42 86
62T EE Hlsh IERFAN 957 42 45 87
62T KA RO INES 43 44 87
62T EH BHE IERFAIMN 957 41 46 87
62T WA FX FMLE 41 46 87
62T INith F TV 44 43 87
62T Kt INEZ 42 45 87
62T B 8B FMLE 44 43 87
62T A F— ENLF 44 43 87
62T LT &= HFHLAE 43 44 87
62T B H Fk TV 48 39 87
62T ik #E 2o EILE 42 45 87
62T INEFHE = N 46 41 87
62T HLE =E INRNT Y 44 43 87
75T SEIE E— TV 43 45 88
75T TR Zih IEBRFhUMN-4957 43 45 88
75T g —E IERRFAVN 4957 43 45 88
75T Al A CA=0=IIN; | 48 40 88
75T HH WF &8 11LGC 45 43 88
75T INFK ZE7] IERRFHAVN) 457 43 45 88
75T ER & IERFAMN =977 41 47 88
75T ] [ WFERFHVMN 9757 45 43 88
75T N 1 WFETEE 40 48 88
75T FGEE INES 43 45 88
85T EH & Fe W 45 44 89
85T = R Ao EILE 42 47 89
85T ENTENE WFEEEE 45 44 89
85T HE RE EBEFIVN-957 47 42 89
85T RN WFEEEE 44 45 89
85T 2@ F IERFAN =977 47 42 89
85T BEE WFEEEE 42 47 89
85T ZFH F= FHLE 42 47 89
85T g #3% EBRFIVN-957 44 45 89
94T FiEE ®1LGC 42 48 90
94T KL WFEHEE 45 45 90
94T ik A 2o EILE 42 48 90
94T el & IERRFHAUMN) 4957 43 47 90
98T [EHTA INEZ 46 45 91
98T AHER =N 44 47 91
98T LH == ENF 44 47 91
98T = & fAl = AN 44 47 91
98T S H B IERRFAVN =477 47 44 91
103T hit & i 48 44 92
103T B3 JFah WFETHEE 45 47 92
103T WH # INRINT 1)yl 49 43 92
103T KR H= WFEH EE 46 46 92
103T pi N 2o ELE 47 45 92
108T BEE 2o ELE 48 45 93
108T mH EAMH IERRFHUMN) 457 42 51 93
108T KEF =B IERRFHUMN) 457 48 45 93
108T 7 5hBK IERRFAVMN =477 50 43 93
112T L R &€ 11LGC 45 49 94
1127 #HE = IEBR AU 457 46 48 94
114 £ H £5h YU NES 49 46 95
115T —= BBZER IERRFHUMN) 457 44 52 96
115T [RE XER == 50 46 96

2/3R=




117 Ay F— WFEEEH 43 54 97
118 ic] == I IERRFHUMN) 457 53 47 100
119T fif] X &€ 11GC 48 53 101
119T D F = 2o EILTE 57 44 101
121 FHE0 88K 2o ELE 47 55 102
ZHE BH E& INBAINT Y - - -
Ri5 [l EE 2 EILTE - - -
Ri5 hR & IERRFHVMN) 457 - - -
Ri5 Ha BE WFEEEE - - -
Ri5 WTF fifi— Py I VNE - - -
Ri5 5i5 B 7Y - - -
Ri5 ik B YU NES - - -
Ri5 & B WFETEE - - -
Ri5 AR B = N - - -
Ri5 HHER NS - - -
Ri5 AR Ei HZHRAE - - -

3/3R=




	中部日本Gシニア１日目

